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Choose the correct option / Answer the
following / Fill in the blank :
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Mention ‘_Of-l,e similarity between

finance and private finance public
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Which type of tax helps in reducing
income dmpanhes?
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Proportionate tax
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Progre§§ive tax
(iii) @‘@WW .

Regresswe tax
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What is honzontal equlty in taxation?
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" Write sHort notes on any four of the following
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Name two  direct taxes

_levied by
Govemment of Indla o
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Name two items . of .. non-plan
expenditure of Indian Government.

Mention two''functions of the Fmance
Commission.

(within 150 words each) :
(a) tre 9o mﬁ’r a7 g

Role of pubhc finance in developed

’ economy
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',objectlves Of taxatmn in developing

country
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Merit goods
(d) IS/ o ﬁkp]R

Main elements of a budget

Defects of Indian tax' system .

O PR B Bt (4R 500 "R fSov)
Answelj -the  following _
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500 words each) : :
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'~ Define public finance, Discuss the ]
. . differences between Public finanee and
private finance, - I
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Discuss the rélative impqrtance of direct
and indirect taxes in a tax system.

i f tax is more
lain which typ(? o :
f;fcfctive in achieving the following

objectives :

(i) TR ST I

Removal of inléome inequality
(i) 2P TS T 2

Reduction in the price of cosmetic
edu _
goods
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What do you understand by incidence of

"tax? Explain with diagram, how
ax

incidence of a tax is distributed between
tu;e buyers and the sellers,
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What do you -mean
debt? Discuss the

repayment of public debt,
6. (a)

' ST/ Or
.0

- fon()wed
budget,
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methOds of ;

stages
of the

( Continie?

7. (a) SRS 5T I oUW ORI ~Rficaioan v |
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i ds in the

ze the main tren '
i\naglditure of the Government of India.
S)lirc))w the causes for the growth of such

expenditure.
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(b) o .
|
Write a note on India’s latest Union
Budget.
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